G3 HOINE2 0/ (A AR R (1) 43 BF)

Bd AP

w4

H #A:

I
o\l e

o |\O

I
— |

O |\

I
A | N

O |\

I
A |0

I
— |\O

v | \O

I
— |

>~ |

I
el Ke)

W N

I
— I~

o\l a

I
A | N

v O\

I
W |~

O [T~

I
— I~

o\l e

I
A | T~

O |~

I
< I~

O [T~

I
— |

O |\

I
N~

v | T~

I
— <

oI <

I
o\l a

Nt~

www.snowmath.com


https://www.snowmath.com

'Z‘ a [P @ B2 0B (A H IR 435

e 451 IYHL:
3.2 1 4 1 3

6 6 6 5 5 5

6 1 5 31_11_

9 9 9 2 2

5 2 3 6 2 4

8§ 8 8 9 9 9
7_1_3 5 1 2
) 6 6 3

2 1 1 5 3 2

7 7 7 9 9 9
6_5_1 5_2_1

7 7 7 9 9 3

2 1_1 711

7 7 7 4 4 2

6 4_2 6 2_14

7 7 7 7 7 7

5 3 2 6 1 5

7 7 7 9 9 9
3.2 1 7_1_3_11
7 7 7 4 4 2 2

www.snowmath.com


https://www.snowmath.com

